FIRERHER

X5 B Rt R2 R3 R4 RS
ABEEH A 958, 114 510, 834 567,678 542,002 502, 904
B =} 20, 748 20, 548 20, 729 16, 166 12,729
L -
Fa =} 3, 368 4,075 3, 601 2,511 1,859
2 B5fE =] 2,316 2,044 2,113 2,181 2,194
FZRa— | 4 (=] 153 141 187 231 249
1H E] 0 0 0 0 0
IRSZHERE (Fitk Bifs: FH)
Rt R2 R3 R4 RS

[4xA]
Y4 01)5a—X 3,197 3,174 3,179 2,466 1,936
T=—Ad—F 1.335 1,135 1,235 1,296 1,310
LZ RS2 2 g78| 2646 280 343 332
Zoi ) 558| 2,871 3474] 4963|4455
EEEEN 39, 352 49, 369 60, 515 51, 341 55,018
IRAET (A) 49, 320 58, 695 11,293 63, 496 66, 042

[3zHi]
A2 32 735|  81.351)  35.188]  36,319] 38 551
R 2 o3|  6.846 5107 4824 8352
S 2K E 60s0| 5.228] 6480 8003 6 740
(B HIRE 4078 3,625 3531 3,560 3,832
s 1 206] 3273 10140 1,048 787
EEEMIEE - BAR 1,636 831 2,150 678 949
W EEe 1678 4120 a.428)  2363] 2632
ENR - SRR 144 6 110 130 224
ANy EER sl 1308 res3] 2001 1680
BRAE 339 492 1,111 639 682
BEXEEFERE 6, 867 4,159 2,625 2,571 2,892
X &t (B) 57,235 61,329 11,823 62, 136 67, 321
%% (A— (B) -1,915 -2,634 =530 1,360 -1,219




AT D AR RS

(A - 2B V)

(BEEAEE )

X

v

( i )
EFE )
v v * v
S -
PR
BEORAREEOHKT
o2 =5 Ha =
HEE L 160 | SH(110[H) +45057 i-+ (50 M)
v A2/
HEREE L AS 50 F
1H 1,630 H
4 EBRLLR 870 H
F=—Ra—t 2 BRI AR 540 M
545y bk 200 H
51 —X 200 M
TROBE - BRESRUSEORIE - BEHE
Py Has ME S5 BIRE)
. |EENE =5
PH2EE| yrrmis HEK Rl 165, 456 T
Kha—r— f Rl B S T 15,130 M
4713 EE | GEEETF T 3 115 T
MmEEG L B 87,879 +H
MmEEG L BH 100, 009 +H
S 4 EE| KA. KIE  |=H 5 999 T
HOSE arfes 25, 589
tOokAL HEIERE 101, 140 +H
S5 EE|dO AR 303,059 +H
maOkrAL BH 4 007 +H
BT H0H
SHOBE - EEE)
P P NZ
N LOLRS e
PHOFE =x @ N7 T R

BiETHDH



